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For the circuit shown below, if v:(£) = 10 cos(10t) and i,(t) =
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Q16 phase relation can be stated as .... . |
a, vi(r) leads wa(1) by 20° 0. | wi(r) leads va(r) by 70° |I
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: wetions (22-25
**For the circuit shown, answer queslions (22-23)
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Q23 | The impedance of the 34 1s:
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o i(f) = 5cos(41 -90%) A | d. | i(r) =20cos(41 + 45%) A

i(r) = 10cos(dr + 45%) A

| & i(f) = 10cos(4r - 36.8%) A 3 |

Q25 | For the voltage waveforms across the inductor v(g) 1s:

a. w(f) = 6cos(dr+ 157) V b. | W) =~'3Hcpﬂf4r -33.1°)V
-3 wt) = 50cos(4r +90°) V . 'L‘;Ef.' J wr) =3lcos(dr + 53.1°) V
e, ) = 50cos(4r - 90°) V f. '.-{r}‘é' 6cos(dt+ 159V J
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For the circuit shown, yse Superposition
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The current I, due to the 2V voltage source: |
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Q14

The cumrent I: due to the 2mA current

SOUTCE: oy |
i, -2 mA |
b. -0.286 mA o
c. |0A 7
d |2mA L/
1 <. -0.83 mA
Q15 | The current Ix in the given circuit:
a. ) |-033mA /
; 1.33 mA L/
c. -1.33 mA
d. 0 A
- 0.33 mA

E__.H.ﬂ-

R ——

¥ B i R S &
principle 1o answer questions (i« '

Tx

¥

J Ty A

& |
— e A Ly

i1

AP\

& r—
l_“xa. j‘ 2

+ - 3 -

v A

RV
Filvs




|

[Q6

B

The energy stored 1n th

—

71

ﬁ.HUHEI equivalent circuit

[
Q7
(9_'_2{} H ]
b. |92H
4L HD
iz
e ToH |

I

\ ()Y =

¢ 2. F Capacitor 1s .

The equivalent inductance Lris...

i
'y

i

V4

[ 8
—
DA @ 0
t ot
d
- a3
20A 0
L b

T |~ Fy
o = 3=
NJ U B
:’f—r: <& L
i = P
2 H |
1 IF |

to the following circuit 1s:

10}
L ~—ANVV—® ¢
20V ==
l=nnase

10A

1WA In

-

1B
Ly OH %HH
- |
1 ya= ___;.‘_j-—-— = \':]A
Py
Ry- 24
3
]
a
10A
L 3
. 20

- U




15

4,00 L 7 5 3
0 " |5 E.,
V - E = |y

e = - T e | Wan, This
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Q5 | The equivalent capacitance seen between terminal A-B 15
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